Series EF1GH/1 SET~1

.................................................. 77T HS
5 s T 67/1/1
Roll No. el ST g ST %'
: 1@-98 W awd ford |
] Candidates must write the Q.P. Code on
the title page of the answer-book. :
~
ALERNHA
ACCOUNTANCY
®
fRefRa @ : 3 o2 STferaT 3% 80§
: Time allowed : 3 hours Maximum Marks : 80
: 712 / NOTE

E(i) FTT 57re FT & 35 §F 7957 g H Figa g5 39 & /

Please check that this question paper contains 39 printed pages.

E(ii) o9 g H Fligal §T€ @1 301 130 10 "9 uF Fis bl gligrel] 3u3 gixieer as-
: T g3 0= o |

Q.P. Code given on the right hand side of the question paper should be written on the t/tle
: page of the answer-book by the candidate.
(i) gpoT ST &2 & 135 87 T U 7 34 9T & /

Please check that this question paper contains 34 questions.

é(iV) FUAT T BT 32 ferRaeir Y= HIa A uFe, mgﬁ%aﬂ#neaaﬂmwea'
: fered 1 :
Please write down the serial number of the question in the answer-book before attempt/ng:
: it.
i(v) 5 momud @) UG & 0 15 fAeie BT FEY 1391 7T § | Tt U T [AeRUT:
gaﬁ;'#wﬁ g5 1a5ar SmmeeT [ 10.15 &5 F 10.30 as?aaswsréa?aﬂsaasraﬁ'

ggal 37T §F 3rafer @& §IkreT 3 362 GiFrasT U i Iu2 a7g] ezl |

15 minute time has been allotted to read this question paper. The question paper will be§
distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will read the:
question paper only and will not write any answer on the answer-book during this period.



HTHT=T (3397 :

FHETITRET 145911 %1 a5d @Iae1 & 1T 37 371 ] & 91 BT :

(i) 39 J97-97 7 34 F97 & | @4t y97 SAfFard & /

(ii) I8 Y97-97 @ 971 4 [@y7faa 8 — 9T & 79 4 & |

(iii) Y77 & Tt wienteat & forg srfAard 8

(iv) 9T & 4 3 @y 8 79fq — (1) AT [[awon &7 favaye, aor (2) 3wl
FGTHT | GO & W @ § AT Y & IR FaT U & [9%eY @ I9) @
I fora & |

(v) Yo7 &1 G 16 79727 T 30 7% Uh-Uek 3% & Jo7 & |

(vi) 97 &7 17 & 20, 31 TI7 32 T%F AT~ 7] & To7 5 /

(vii) 99 G&I1 21, 22 TIT 33 TH TAR-TR JH & J97 85 /

(viii) 597 GCIT 28 G 26 TIT 34 TF T:—B: 3H & Yo & |

(ix) ¥o7-99 & GOF oy 787 a7 77 & | Jef4, vh-vak 37k & 7 Jo91 4, diT-diT
3hl F 2 Jl H, AR-AR 37h] & 1 J97 7§ 797 ©:=8: HHl & 2 Fo4 7 37dk%
farheq 7 =97 1397 797 8 |

WAl 6
(\TSer Wt quT St o o SraieT)

1. () &0 qon 91 G ®H 4 "iEieR 8 | 31 9T, 2022 i G g¢ a9 ),
T F TS A ok TH H T 10,000 Uid ATE T TR fRAT B |
ST W SIS 6% Tk e & YU Temam ST o7 |

31 9T, 2022 I TETT §C AT H T % T W A AT 1
(@) T 3,900 (b) T 325
(© ¥ 3,600 (d ¥ 3,300

rerat

(i)  forem qom e UH wH H @EER § | 31 7, 2022 i WA §C 99 H
AR A T faadl & 3=d T T 1,000 T AR fohal B | AR W

SIS <kl MUET <h1 3TEa AT gl 1
(@) 6T (b) 4%%’

1 1
(C) 751:“3 (d) 651:”_6

67/1/1 ~ v~~~ Page 2



General Instructions :

Read the following instructions very carefully and strictly follow them :

(i)
(ii)
(iii)
(iv)

(v)
(vi)
(vit)
(viii)
(ix)

67/1/1

This question paper contains 34 questions. All questions are compulsory.

This question paper is divided into two parts — Part A and Part B.

Part A is compulsory for all candidates.

Part B has two options i.e. (1) Analysis of Financial Statements, and
(2) Computerised Accounting. Candidates must attempt only one of the given

options as per the subject opted in Part B.

Questions no. 1 to 16 and 27 to 30 carry 1 mark each.
Questions no. 17 to 20, 31 and 32 carry 3 marks each.

Questions no. 21, 22 and 33 carry 4 marks each.

Questions no. 23 to 26 and 34 carry 6 marks each.

There is no overall choice. However, an internal choice has been provided in
7 questions of one mark, 2 questions of three marks, 1 question of four marks

and 2 questions of six marks.

(1)

(ii)

PART A

(Accounting for Partnership Firms and Companies)

Hina and Neena are partners in a firm. Neena withdrew ¥ 10,000
per month at the beginning of each month during the year ended
315t March, 2022. Interest on drawings was to be charged @ 6% per
annum.

Interest on Neena’s drawings for the year ended 315t March, 2022

will be :

(a) ¥ 3,900 (b) T 325
) T 3,600 @ ¥ 3,300
OR

Vibha and Asha are partners in a firm. Asha withdrew ¥ 1,000 at
the end of each quarter during the year ended 315t March, 2022.
Interest on drawings will be calculated for an average period of :

() 6 months (b) 4% months

(¢) 7 % months (d) 6% months

~~~~ Page 3 P.T.O.
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2. Aman and Chaman are partners in a firm. On 1St July, 2021 Aman
advanced a loan of ¥ 6,00,000 to the firm. There is no partnership deed.
On 315 March, 2022, Aman was entitled to get the following amount as

interest on loan : 1
(a) T 36,000 (b) T 18,000
(c) < 9,000 (d) T 27,000

3. (i) Akshita Ltd. issued fully paid shares of ¥ 5,00,000 in purchase
consideration of net assets of T 4,70,000. The balance of ¥ 30,000
will be to account. 1

(a)  debited, Goodwill
(b)  debited, Capital Reserve
(c) credited, Capital Reserve

(d) credited, General Reserve

OR
(i1) Maira Ltd. took over assets of ¥ 12,00,000 and liabilities of
T 4,00,000 of Subav Ltd. for an agreed purchase consideration of
< 9,00,000. The amount was payable by issue of 11% debentures of
T 100 each at 10% discount. The number of debentures issued will

be : 1
(a) 9,000 (b) 10,000
(c) 8,000 (d) 11,000

Read the following hypothetical situation and answer questions number

4 and 5 on the basis of the given information :
Kavita, Savita and Madhu were partners in a firm with capitals of
< 6,00,000, ¥ 4,00,000 and < 2,00,000 respectively. After providing
interest on capital @ 10% p.a., the profits are divisible as follows :
Kavita %, Savita % and Madhu % Kavita personally guaranteed that
Savita’s share of profit after charging interest on capital would not be
less than ¥ 1,00,000 in any year.
The profit for the year ending 315' March, 2022 amounted to ¥ 3,00,000
before providing interest on capital.

67/1/1 ~~~ Page 5 P.T.O.



67/1/1

gfadT <1 A9 H WIT TR <Rl Uit 9 % o

(a)
(c)

F 40,000 (b) ¥ 70,000
F 20,000 (@ ¥ 10,000

%H o ol AT sl TS =T TR =T THEISH H & uv=rq argeil ¥ fowrfoa
fepa St

(a)
(b)
(c)
(d)

(1)

(ii)

1)

(i1)

Hiadl T 60,000, Fiadm T 40,000 TAT 7Y T 20,000
Hiadm T 50,000, Fiadm T 1,00,000 T 7Y T 30,000
Hiadr T 60,000, Fiadr T 90,000 TAT 7Y T 30,000
Hiadl T 60,000, Ffaar T 1,00,000 921 7Y T 20,000

Teh HFHI 4 T 10 I o 400 3130 1, 9 W T 8 ufd 3w anfaa
fopem T o, = 2 Wi o7 S WAW AT AR 1 YIaE T HH W g
H foram | 3 ST o TO W AW Sl @Id W AW 9§ H @A i
TvlTE"ﬁ:

(a) ¥4,000 (b) %800
(c) T 3,200 (d ¥ 2,000
AT

tfaad fafes 9 T 10 9% & 700 3 &1 g 10% Hifirm w
i foeam o e, = 5 gfa ow (fftrm wiga) &t smeaeq iy qen
T 3 ufd o791 i Tom wF AfH AT TR T PTAE T HE T W H
foram | 37 37en o FOT WY g0 @I o ST 9e § W b A
(a) % 7,000 (b) % 1,400
(c) % 4,900 d = 2,100

Ufga fafide 3 T 100 938 &+ 2,000, 9%3€mqsﬁwﬁﬁq-—r T 95 9fd
OIS X foRAT | 9% RUT9T WTd & 9T 9& H Wl <hl et

(a) ¥1,90,000 (b) ¥ 1,10,000
(c) T 2,00,000 (d ¥ 10,000
AT

frafafea o @ o981 %29 g 22

(a) SRUTYS 9 SISl Ush 99K &, fai=aie 81 |
(b) RO i &g W it fehem St oepan 2 |
(c) SRUTYALTRAT hl a1 < ol ATUHR T 2 |
(d) T A § uiEfaa T8 fRam ST aekan |
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4, Savita’s share of profit is short of the guaranteed amount by : 1

(a) T 40,000 (b) ¥ 70,000
(c) T 20,000 (d) < 10,000
5. The total profits of the firm after adjustment of guaranteed amount will
be distributed between the partners as : 1

(a) Kavita T 60,000, Savita T 40,000 and Madhu ¥ 20,000
(b) Kavita ¥ 50,000, Savita T 1,00,000 and Madhu ¥ 30,000
(c) Kavita ¥ 60,000, Savita T 90,000 and Madhu ¥ 30,000
(d) Kavita T 60,000, Savita ¥ 1,00,000 and Madhu ¥ 20,000

6. i) A company forfeited 400 shares of ¥ 10 each, ¥ 8 per share called
up for non-payment of first call of ¥ 2 per share. On forfeiture of

these shares, ‘Share Capital’ account will be debited with : 1
(a) ¥ 4,000 (b) ¥ 800
(c) T 3,200 (d T 2,000

OR

(ii)  Xyle Ltd. forfeited 700 shares of ¥ 10 each issued at a premium of
10% for non-payment of allotment money of I 5 per share
(including premium) and first and final call of ¥ 3 per share. On
forfeiture of these shares, ‘Share Forfeiture Account’ will be

credited with : 1
(a) < 7,000 (b) < 1,400
(c) T 4,900 (d < 2,100
7. i) Rohit Limited issued 2,000, 9% Debentures of ¥ 100 each at ¥ 95
per debenture. 9% Debentures account will be credited by : 1
(a) < 1,90,000 (b) ¥ 1,10,000
(c) < 2,00,000 (d) < 10,000
OR
(ii1)  Which of the following statements is incorrect ? 1

(a)  Interest on debentures is a charge and not an appropriation.
(b)  Debentures can be issued at discount.
(c) Debentureholders do not have voting rights.

(d) Debentures cannot be converted into shares.

67/1/1 ~~~ Page 7 P.T.O.
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3T, YR a1 AT FMEER & qAT 3:2: 1 h I H 4l 1 fqu=H
HA ¥ | 1 IS, 2022 HI A ®H F HaTHgd d T | SAHTT H
TarHgfa 1 fafyr w feufa faawor s @ & 9@ 98 3§ T 1,20,000 H1
Y S TG AT | ASHTST i <F THRT I AT hid T9T 38 Y I gar=alvl
SIS

(a)  3THA QAT STMYR ok Yoit @Ial < 91 987 H YU A9-faueH 3 ua | |
(b) A, YR AT Al o IS @l o AW 9§ § A Ard-faueH

U H |
(c)  3THA QAT STYR % YSft @Al o SHT 981 H T ATH-[THSH I H |
(d) 3T qAT STYR o Y51t @Il o ST &1 H b AIAH I H |

f3fer, et dem wefie \%WﬁﬁW%HQTZ 1:2 % AT | AT
fawsH #d 8 | A AT B T q91 Se i S ST SHESH,
qREFfEl o QAR 3R SIATSTl o GAHYRU o 99T 3Heh Yol @Td
A9 T 80,000 o1 | FfYr oK weflt 35k @ & QUi fqe™ ® 38 T 1,00,000 1

YA i o [T T80 81 T | AT hl AT T BH hl BT § IHHT
HIT o7

(a) T 4,000 (b) ¥ 20,000
(¢ ¥ 16,000 @ ¥ 1,80,000

STYFHIT (A) : M Teh I TG & |

FRU(R) : wifa wfosy d smferd wnymer et & 3rfafs wrdt el &
Tree | Teh BH 1 JfIssT &1 4o 7 |

fafalaa 7 9 ¥t fasrew =1 =@ Fifvg
(a)  SANTHA (A) T 8, Tg SO (R) Tod ® |

(b)  SANTHA (A) TAd 7, T BRI (R) Tl B |
(c) AN (A) qAT I (R) ST Tt & |
(d)  3TfeReE (A) T HRU (R) T Tod & |
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10.
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Aman, Aadhar and Avinash were partners and sharing profits in the
ratio of 3 : 2 : 1. Avinash retired from the firm on 15t July, 2022. On the
date of Avinash’s retirement, the Balance Sheet showed a debit balance
of ¥ 1,20,000 in the Profit and Loss Account. For calculating the amount
payable to Avinash, this balance will be transferred :

(a)  To the debit side of the capital accounts of Aman and Aadhar in old
profit sharing ratio.

(b) To the debit side of the capital accounts of Aman, Aadhar and
Avinash in old profit sharing ratio.

(c) To the credit side of the capital accounts of Aman and Aadhar in
new profit sharing ratio.

(d)  To the credit side of the capital accounts of Aman and Aadhar in
their gaining ratio.

Nidhi, Kunal and Kabir are partners in a firm sharing profits in the ratio
of 2 : 1 : 2. Kunal retired and the balance in his capital account after
making necessary adjustments on account of reserves, revaluation of
assets and reassessment of liabilities was ¥ 80,000. Nidhi and Kabir
agreed to pay him ¥ 1,00,000 in full settlement of his claim. Kunal’s
share of goodwill of the firm, on his retirement was :

(a) ¥ 4,000 (b) ¥ 20,000
(¢) ¥ 16,000 @ ¥ 1,80,000

Assertion (A) : Goodwill is a intangible asset.

Reason (R):  Goodwill is the value of the reputation of a firm in respect
of profits expected in future, over and above the normal
profits.

Select the correct answer from the following :

(a)  Assertion (A) is correct, but Reason (R) is wrong.
(b)  Assertion (A) is wrong, but Reason (R) is correct.
(¢)  Both Assertion (A) and Reason (R) are correct.

(d)  Both Assertion (A) and Reason (R) are wrong.

~~~~ Page 9 P.T.O.



11.

12.

13.

14.

67/1/1

F AT @ Th BH § AEIGR I qAT 7 : 1% AJId H ATH-FIH ol fa9=H hid
g | % J Ik fquEl & IRY H T 12,000 i T Fivad afyr 1 smEw
R | TR W 6% e e & =T ITiE fopam STar 2 | 99 & 37d | AW
T IS THTHG v shl U= Ifafse g .

(a) AWl W SIS Widl 4™ ¥ 1,800

%’ 1 Sl @ral T 1,800
(b)  SATETOT YT SITST WAl A < 1,800

‘e’ <Rl T QT T 1,800
(c) o T YSil @TaT 4™ T 1,800

@1 YL TS EidTl < 1,800
(@ Y- fafse @@ am T 1,800

CIRKUR IR IE RCIRI T 1,800

3Tehd Yot 1 98 WIT S8 areda ® SHa1 sl AWed i o fog feifea T

ST B, hEdATdl 8

(a)  Afored goft
(b)  Tifia gSh
(c)  3Mersha sit
@ s

et fafiee 3 T 100 v &1 w3, @ 20% Hftrm w feffia fean mn
o1, T 30 Wfd TR hl YW AT=AT 991 T 10 Tid 3T <l | AT=HT BT YITaH
T HE W, W R T | =Ead qod 58 W 39 o ol A foRam S
ehdT 8 :

(a) T 40 (b) T 60

 T20 (d T 100

ST qAT ST Th HH H HIGR & A 2: 1 AT § THl & fawse
| s B 2w % for e # R | s 3 e

mwgmﬁwﬁam % T ST & ot | feqan, STmT qen s1ed

T T ATH-TIUTSH 31dTE BT
(a) 3:2:4 (b) 4:3:2
(c) 2:1:1 (d) 4:2:3
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11. ‘A’ and ‘B’ were partners in a firm sharing profits and losses in the ratio
of 7 : 1. ‘A’ withdrew a fixed amount of ¥ 12,000 at the beginning of each
quarter. Interest on drawings is charged @ 6% p.a. The journal entry for

charging interest on drawings at the end of the year will be : 1
(a) Interest on drawings A/c Dr. < 1,800
To A’s Capital A/c < 1,800
(b)  Interest on drawings A/c Dr. < 1,800
To A’s Current A/c < 1,800
(c)  A’s Capital A/c Dr. < 1,800
To Interest on drawings A/c < 1,800
(d)  Profit and Loss Appropriation A/c Dr. ¥ 1,800
To Interest on drawings A/c < 1,800

12. That part of the authorised capital which is actually issued to the public
for subscription is called : 1

(a)  Subscribed capital
(b)  Issued capital

(c) Authorised capital
(d)  Reserve capital

13. Zinki Limited forfeited a share of ¥ 100 issued at a premium of 20% for
non-payment of first call of ¥ 30 per share and final call of ¥ 10 per

share. The minimum price at which this share can be reissued is : 1
(a) <40 (b) < 60
(c) T 20 (d ¥ 100

14. Akshita and Anurag are partners in a firm sharing profits in the ratio of

2 : 1. Akshat is admitted in the firm with % share in profits. Akshat

acquires % of his share from Akshita and % of his share from Anurag.

The new profit sharing ratio of Akshita, Anurag and Akshat will be : 1
(a) 3:2:4 (b) 4:3:2
(c) 2:1:1 d 4:2:3

67/1/1 ~~~ Page 11 P.T.O.



15. WH o foued % aw ffaRea # @ fpd agel @1d o g fepam smem 2

1)
(ii)
(ii1)
(iv)
(a)
(b)
(c)
(d)

16. ()

(i1)

67/1/1

fewe il % fow yraum

EIEENEA e

T T

I

(i) 3 (iv)

(i), (ii) 9T (iv)

(i), (iii) T (iv)

(i), (i) T (iii)

oY, 9 AT TR Teh BH H TATHGR & TAT 4 : 3 : 1 A § ATH-ZIH I
faws & 9 | 1 faaver, 2022 f H g 7 T | R A gy f;

fafsr =t &1 & @i S TUET T 80,000 T ME | Y & ATH b UNT ohI
gaTSIg femam Sie

(a) AT GTd o 99 987 § T 40,000 <hl AT hieh |

(b) AH-BTH faf=em @d & 9™ 987 § T 40,000 hH G b |
(¢) Y-8 3°fd @id & 9™ & § T 80,000 <hl G-l sieh |

(@) ¥ =0 @d & A9 98§ T 40,000 hH G Hh |

AT

g1, Hiar qem SAMAr U BH W WEiGR 9 9T 3:2:1 % U H
ATH-EIH 1 Ta9TeH d o | IS HaT-ga &l 715 TR 3dehT WHT T qen
AT g SeR-ateR foram o | idr dun SAfar 1 T A faweH

ITAT BT :

(a) 2:1
(b) 7:5
() 1:1
d 3:2
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15. Which of the following will be transferred to Realisation Account at the

time of dissolution of firm ?

(1) Provision for Doubtful Debts

(ii))  Partners’ Loan

(iii)  General Reserve

(iv)  Goodwill

(@) () and (iv)

(b) (@), (ii) and (iv)

(c) (1), (ii1) and (iv)

(d) (@), (i) and (ii1)

16. (i) P, Q and R were partners in a firm sharing profits and losses in
the ratio of 4 : 3 : 1. P died on 15! September, 2022. On the date of
P’s death, the profits of the firm were calculated as ¥ 80,000. P’s
share of profit will be adjusted by : 1
(a)  Debiting Profit and Loss Account with ¥ 40,000.
(b)  Debiting Profit and Loss Appropriation Account by ¥ 40,000.
(c) Debiting Profit and Loss Suspense Account with ¥ 80,000.
(d)  Debiting Profit and Loss Suspense Account with ¥ 40,000.
OR

(ii)  Pooja, Nita and Anita were partners in a firm sharing profits and
losses in the ratio of 3 : 2 : 1. Pooja retired and her share is taken
up by Nita and Anita equally. The new profit sharing ratio of Nita
and Anita will be : 1
(a) 2:1
(b) 7:5
(c) 1:1
d 3:2
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17.

18.

19.

20.
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g, foaes e forig T B | |1EER 3 Q1 5: 3 : 2% T § TH-§T I
fawTsH a9 | 1 374, 2022 I GAF HATHGA & T8 | TR, ST ae
Gfa vl oTfe araret afl TUTIISHI i ST o q9aTq fodeh qe fomig o gsi
@rdi 4 A T 3,60,000 AT T 1,40,000 T SHT Y T |

g ot forn o fop foash wa forig &t it o1 3ok 9 eny-faureH sguma o
TR o ST | oTewess URMET @M J1e@T oTEid # hl HATawe
A= gfafseat hifsu | 3199 shrf sl Tqse ®9 9 291isu |

3T, W, O 1 ] Teh HH H TTEGR o AT 2:1:2: 1% IJIG § TH-JIH
1 fI9TSH A o | I8 1 3T, 2022 H Y- Bl 4:2:3: 1o JJUd |
fawfora 6 =1 faota forn | 38 fafy & w6 wfa 1 geamesa T 1,20,000
foRe T T YRRl W AT E=E T 36,000 ST @ o |

IwIt AR % U sTavEs T whafsEt ST | o wE # T &9
H T3 |

(%) e fafies 7 T 10 & & 1,00,000 3=l 10% Hfrm w
Afiem & forw sHar < frifia T | aeget oft smags w 2 ot |
3,00,000 3P % U HEeH YH gC qo1 sig 4 i forn fob afl
STYTIAT I AT ATIR T 37 T ATeH L T I1T |
e fafiee &1 geasl § IuYE oFedl o fTu STawges  UsHmE
gfafseat Shifs |

JrqaT

(@) e fafies 3 @t fafes 1 T 60,00,000 i gREmaf=i qen
T 10,00,000 3 AT T 45,00,000 % T oI T o+ il FgAM & |
TR 1 PTaE T 100 IAH & 10% FROGAT Sl 25% Hiftem w® Frifaa
e foha ST o |
vad fafiRe &1 geaenl # SWw el o (AT Tavash UsHHE
yfafseat s |

(%) 131, 2022 I MY qAT 1Y T HH B IS T 1,50,000 7 | FEIRE
ot W Yo h G W 10% B | B % SNEd oW T 23,500 B |
ARl o 9 I & HF & SMYR W B hl ©aifa hl 7uEm hifve |

AT
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17. Suman, Vivek and Vinod were partners in a firm sharing profits and
losses in the ratio of 5 : 3 : 2. Suman retired on 15t April, 2022. After
making all adjustments relating to revaluation, goodwill and
accumulated profits, etc., the capital accounts of Vivek and Vinod showed
credit balances of ¥ 3,60,000 and ¥ 1,40,000 respectively.

It was decided to adjust the capitals of Vivek and Vinod in their new
profit sharing ratio. Pass necessary journal entries for bringing in or
withdrawal of the necessary amounts. Show your working clearly. 3

18. Anu, Manu, Tanu and Kanu were partners in a firm sharing profits and
losses in the ratio of 2 : 1 : 2 : 1. They decided to share profits and losses
in the ratio of 4 : 2 : 3 : 1 with effect from 15t April, 2022. On this date,
goodwill of the firm was valued at ¥ 1,20,000 and General Reserve
appeared in the books at ¥ 36,000.
Pass necessary journal entries for the above transactions. Show your
workings clearly. 3

19. (a) Annex Ltd. issued 1,00,000 shares of ¥ 10 each at a premium of
10% to the public for subscription. The whole amount was payable
on application. Applications were received for 3,00,000 shares and
the board decided to allot shares to all shareholders on pro-rata
basis.

Pass necessary journal entries for the above transactions in the
books of Annex Ltd. 3

OR
(b)  Shovan Limited took over the assets of ¥ 60,00,000 and liabilities
of ¥ 10,00,000 from Swami Limited for an agreed purchase
consideration of ¥ 45,00,000. The amount was payable by issuing
10% debentures of ¥ 100 each at 25% premium.

Pass necessary journal entries for the above transactions in the
books of Shovan Limited. 3

20. (a) On 15t April, 2022, the capital of the firm of Ashu and Madhav is
T 1,50,000. The normal rate of return on capital employed is 10%.
Average profits of the firm are ¥ 23,500. Calculate goodwill of the

firm based on three years purchase of super profits. 3

OR
67/1/1 ~~~ Page 15 P.T.O.
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(@) f&ra qon Aicts TH HH H WISER & qU1 4: 1 % A H AN 6
fawrsH ot 8 | 1 319, 2021 1 IR ISt wEM: T 1,20,000 qAT
T 80,000 off | 1 femmer, 2021 1 g favf o T v 1 et St
T 3,00,000 Bt ek fofw 39k g 2:1 % 31U # AMeH T
SITE |
AT Foi@ o TR, ATEIGRI Sl 6% TN &t & Yoit W oA G
SITE |
31 W, 2022 ! THH BH <1 98 § Yot W fG@ I aret =311 6l 10T
it |

Few fafies it sifpd ISt T 30,00,000 3 St T 10 IAF & wHaT W A

fomfSa | e 970,000 390 o1 fifig s & fow e e foeu |

69,000 3T o ToTq 3Treled 0 U | @ Ar=HTE /I ot T qA1 had 3,000

M W T 2 9Md 31 bl JoW T fqq Ir=ET TR o e Tt Uiy ured &

TS | 3 3TN T BT T o T |

(%) O AMEE, 2013 i JAFEI 111, AW I o AR HFEOT & 2l
Toraor & <ormr ISfY o0 gwifzw |

(@) st % fore @t & e ot dEm fifs |

e, Geh q T Teh BH H ATSIER 9 AT 2: 2 : 13 3T H ATH-gIH
fauTeT a9 | 31 1, 2022 1 3T fEafd foaewor = R @ o

31 WT™, 2022 i LR, Eides a1 Tai o1 feurfa foemo

TR 50,000 | Y T Had 2,10,000
= T 1,00,000 | TR 1,90,000
EQyl 1,20,000 | ¥k 30,000
g IEERN] 1,70,000
g 1,60,000 fasma S=fa @ 1,20,000
HEED 1,50,000
EEIE] 1,40,000 | 450,000
7,20,000 7,20,000
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(b)  Rakshit and Malik are partners in a firm sharing profits and losses
1. On 1St April, 2021, their capitals were
¥ 1,20,000 and ¥ 80,000 respectively. On 15t December, 2021, they
decided that the total capital of the firm should be ¥ 3,00,000 to be
contributed by them in the ratio of 2 : 1.

in the ratio of 4 :

According to the partnership deed, interest on capital is allowed to

the partners @ 6% p.a.

Calculate interest on capital to be allowed for the year ending
315t March, 2022.

21. Sandesh Ltd. has an authorised capital of ¥ 30,00,000 divided into equity
shares of ¥ 10 each. The company invited applications for issuing 70,000
shares. Applications for 69,000 shares were received. All calls were made
and duly received except the first and final call of ¥ 2 per share on 3,000
shares. These shares were forfeited.

(a) Present the ‘Share Capital’ in the Balance Sheet of the company as
per Schedule III, Part I of the Companies Act, 2013.
(b)  Also prepare ‘Notes to Accounts’ for the same.

22,  Sudhir, Deepak and Naveen were partners in a firm sharing profits and
losses in the ratio of 2 : 2 : 1. On 315t March, 2022 their Balance Sheet
was as under :

Balance Sheet of Sudhir, Deepak and Naveen as at 315t March, 2022
A t A t
Liabilities T2 | Assets e
Creditors 50,000 | Land and Building 2,10,000
General Reserve 1,00,000 | Machinery 1,90,000
Loan 1,20,000 | Stock 30,000
Capitals : Investments 1,70,000
Sudhir 1,60,000 Advertisement Suspense A/c | 1,20,000
Deepak 1,50,000
Naveen 1,40,000 | 4,50,000
7,20,000 7,20,000
67/1/1 ~~~~ Page 17 P.T.O.
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30 S, 2022 I GIR i g B TS | HIBIGR H I W A doi@ |

T TS o

(i)  H I TN I Yoo [USe IR a¥i o 3{d @, st T 1,80,000
%,%2% a9t % 1 % SER T R ST |

(i) T i Tl qoh AW A¥an g § R o 9 1 AT ok o STER
T I AW | 31 "E, 2022 HI GHAH B 91 99§ oy f afy
T 4,00,000 oft AT 1 A, 2022 T 30 I 2022 T TosRd hH TR
T 1,50,000 o | 31 7<), 2022 %I HHH FT oW H @9 T 1,00,000
or |

(iil) et | 7% At g & <A T S |

g & frsaeent s Giga o fore et YSit @rar dm hifr |

(%) T ofifeafei @ omli & &0 w@ AR &t Savas UsHmE
yfafeeat i
i) S H S AR I T 10 79s & 75 31 W+, ™R T 4 9fq I
iftem W fifig fopen o o, T 8 ufa ow (Shftem =fga) i
Mo TR T YW | i T, g1 R {1 | T 4 Tid 379 i
TH TE ifqd e i o1t wih w@i w8 oft | = fepu w s
I T 15 Ufd 3191 ol wga gH: Feifira =6 foam mm |
(i) et fafies 3 T 50 Ufd 7= % 1,200 390 HI, e T0 oI
o fifia fopam T om, T 10 id 3791 <A1 SAfH AT=AT 1 A
T B T, B R TR | T F 900 M I T 45 Ui 7= O
wea g Tifea s feam |
reran
(@) v fetfieg 9 T 100 9 & 30,000 3790 i 20% e w fifia
F & foIu ofEed mba fohw | fa o afsr &1 YA = Johr @
é?{%ﬂ:
A W — T 40 (T 10 Hfrm =fzad)
A& W — T 30 (T 10 Hiftem wfza)
JIH I W — T 30
fgeftar wa =ifaw amemT W - 9w
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Sudhir died on 30t June, 2022. The partnership deed provided for the

following, on the death of a partner :
1) Goodwill of the firm was to be valued at 2% years purchase of

average profits of the previous four years which were ¥ 1,80,000.

(i1))  Sudhir’s share of profit or loss till the date of death was
to be calculated on the basis of sales. Sales for the year
ended 315t March, 2022 amounted to ¥ 4,00,000 and that from
15t April, 2022 to 30t June, 2022 amounted ¥ 1,50,000. The profit
for the year ended 315t March, 2022 was ¥ 1,00,000.

(iii) Interest on capital was to be provided @ 7% p.a.

Prepare Sudhir’s capital account to be rendered to his executors. 4

23. (a) Pass necessary journal entries for the forfeiture and reissue of
shares in the following cases :

i) BCG Limited forfeited 75 shares of ¥ 10 each issued at a
premium of ¥ 4 per share for non-payment of allotment
money of ¥ 8 per share (including premium). The first and
final call of ¥ 4 per share was not made. The forfeited
shares were reissued at ¥ 15 per share fully paid.

(i1) Geetika Limited forfeited 1,200 shares of T 50 each issued
at par for non-payment of final call of ¥ 10 per share. Out

of these, 900 shares were reissued at I 45 per share fully
paid-up. 6

OR

(b)  Pushkar Limited invited applications for 30,000 shares of ¥ 100
each at 20% premium. The amount per share was payable as
under :

On application — ¥ 40 (including ¥ 10 premium)
On allotment — ¥ 30 (including ¥ 10 premium)
On first call - ¥ 30

On second and final call — Balance

67/1/1 ~~~ Page 19 P.T.O.
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40,000 31 % T &S W §Y AT 35,000 I % IATEAGHI hl
IR STTee o TG TRIT | AW SATAGH] ol I Tehd L fem T |
JTded W gTed AfHTh SHUisT v SHRISE 3Teed W eF URT § L fean
IR

e, fem 700 39T o fow etmaed fokan o, Areed Ui &1 P &
o B T@T 3R e oh o U9 S 3TN T 0T L o1 T |
3Teh o1¢ YUY AT GUN TS 9T YW Il W oo &t ufyr uea @
T8 | fedfte wa sifam e &1 w8 |

gst faiftieg sl q&asi § ITAh TGl o (a0 3TEwdeh  UeHTHeT
gfarfeat i |

(%) I a0 IR TH BH H ARG & qAT 3 : 1 % JId H ATH-FIH I
foumem &t 9 | 31 9, 2022 i 3T fefd foawor 1 ger o
31 W=, 2022 w1 A 7T AR w61 Fearfar foemon
. it .
e F | i R
IGEALS 41,000 | 39 Td HIT 60,000
T w= 80,000 | o 40,000
e I 12,000 | s 60,000
S wih 50,000
Ia 79,000 TTeR 38,000
E1 48,000 1,27,000 | 5T : Gfewe SoTt
T gm@eg™ 4,000 34,000
Uhs 16,000
2,60,000 2,60,000

1m,zozzaﬁﬁw&ﬁﬁ%mﬁsmﬁmmﬁmwaﬁwﬁﬁ

EENRTOIE

(1) I AU Yol qAT 3T HET o BT HHIH & T 4,000 TG
AT |

(i) a1 g T 68,000 foham T |

(iii) EIF T AR R 10% HeIg™ 1 @ |

qAHeATh @A a1 HISIgRi < St @Td I HIfe |

AASAT
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Applications were received for 40,000 shares and pro-rata
allotment was made to the applicants for 35,000 shares, the
remaining applications being refused.

Excess application money was adjusted towards sums due on
allotment.

Yogesh, who applied for 700 shares, failed to pay the allotment
money and his shares were forfeited immediately after allotment.

First call was made thereafter and all the money due on first call
was received. The second and final call was not made.

Pass necessary journal entries for the above transactions in the
books of Pushkar Limited.

(a)  Yuv and Veer were partners in a firm sharing profits and losses in
the ratio of 3 : 1. Their Balance Sheet as on 315t March, 2022 was
as under :

Balance Sheet of Yuv and Veer as at 315t March, 2022
Liabilities Amount | 4 ccets Amount
Creditors 41,000 | Plant and Machinery 60,000
General Reserve 80,000 | Building 40,000
Outstanding Expenses 12,000 | Investments 60,000
Capitals : Stock 50,000

Yuv 79,000 Debtors 38,000
Veer 48,000 | 1,27,000 | Less : Provision for
Doubtful Debts 4,000 34,000
Cash 16,000
2,60,000 2,60,000

They decided to admit Yash in the firm on 15t April, 2022 for

i share in profits on the following terms :

(1) Yash will bring in proportionate capital and ¥ 4,000 as his
share of goodwill premium in cash.

(i1) Investments were valued at ¥ 68,000.

(iii) Plant and Machinery was to be depreciated by 10%.

Prepare Revaluation Accounts and Partners’ Capital Accounts.

OR
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(@) i, SESHE 91 WY UH B A @SR 9 A1 50 3 : 2 F IgAa A
AT T fauo td o | 31 |, 2022 1 31 et faewor

ThT AT :
31 WTH, 2022 i {ATIT, AT AT AT T Fearta fearon
N rlfr e rfr
IEIEERNEHEN 2,20,000 | TS 1,60,000
= Ty 1,20,000 | TER 1,80,000
- =T : HiG™ =N
' foT greEm™= 20,000 1,60,000
pIN 6,00,000 ih 2,00,000
ATHH  5,00,000 EENIEE] 6,00,000
a3 3,00,000 | 14,00,000 | 9o 4,00,000
Uoed 1,20,000
AT-ZIH @ 1,00,000
17,40,000 17,40,000

Ih foifer sl Qe Sariee & R R e W Heni s

(1) T HATHgd W ®H i A1 B e T 12,00,000 TR
T |

(i)  OTISHM qAT T sy § Wi 1 f99TeH 2 : 3 & U |
ool

o 0N

(iii) ¥ 40,000  Tsh fIRgd AICR ohl TET T TR |

(iv) ¥ 30,000 % CGRI ! GoId 0T o €9 § fciiad o feam s |
(v) 3731 k! < TR T EAT-aT0T 39k k0T @Td § L eI T |
®H T JEdehi § ITYRH AT o T ATaeaeh ot Sfafsaf hive | 6
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(b)

Reyansh, Aayushman and Sabhya were partners in a firm sharing

profits and losses in the ratio of 5 : 3 : 2. Their Balance Sheet as at

315t March, 2022 was as under :

Balance Sheet of Reyansh, Aayushman and Sabhya as at 315t March, 2022

A t A t
Liabilities T2 | Assets i
Sundry Creditors 2,20,000 | Cash 1,60,000
General Reserve 1,20,000 | Debtors 1,80,000
Less : Provision for
Capitals : Doubtful Debts 20,000 1,60,000
Reyansh 6,00,000 Stock 2,00,000
Aayushman 5,00,000 Machinery 6,00,000
Sabhya 3,00,000 | 14,00,000
Building 4,00,000
Patents 1,20,000
Profit and Loss A/c 1,00,000
17,40,000 17,40,000

67/1/1

Reyansh retired on the above date and it was agreed that :

(i) Goodwill of the firm on Reyansh’s retirement was valued at

T 12,00,000.

(ii))  Aayushman and Sabhya will share future profits in the ratio

of 2 : 3.

(i11) An unrecorded creditor of ¥ 40,000 will be taken into

account.

(iv)  Debtors of T 30,000 will be written off as bad debts.

(v)  Amount payable to Reyansh was to be transferred to his

loan amount.

Pass necessary journal entries for the above transactions in the

books of the firm.

-~~~ Page 23
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TCT 3TN ST Th BH | ATEER o qAT 3 : 26 I H ATH-GIH 1 fawTeH
A A | 31 HE, 2022 i 371 eyt foawor 7 gepr o

31 HTH, 2022 h1 ATIAIT qAT A=AT9T k1 Teerfar feramor

AER 90,000 | % T Ths 20,000
Syt ATfesT 1 0T 30,000 | T 24,000
SIATST T SR0T 30,000 | fras 30,000
T T 45,000 | STER 20,000
& - T : Tl ol &+
' @ geEgE 2,000 18,000
st 1,00,000 L DF 1,00,000
SRIN 97,000 | 1,97,000 | fasimam 3=fa @ran 2,00,000
3,92,000 3,92,000

31 AT, 2022 =l HfIRad 3|t W B o1 fo=es & M
() TEE ¥ T 17,000 H FEA §E a4 GIF H b God F 10% Nk

T T 73 |

(i) e 7 fiudt oTfey & KU1 I YTAH B 1 GTGT TohaAT qAT Tieh I

T 20,000 H o form |

(iii) ST 9 MY o™ 10% ¥ W o T | 2w fe=n @ T 4,500 6 g

% |

(iv) THFERI &1 YT 10% T2 T T feam m |

(v) S 2 T 7,000 9 |

T @Il R HIT |

a2 2o 2o 4
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25. Aadish and Shreyansh were partners in a firm sharing profits and losses
in the ratio of 3 : 2. On 315t March, 2022 their Balance Sheet was as

follows :

Balance Sheet of Aadish and Shreyansh as at 315t March, 2022

A t A t
Liabilities m;un Assets m;un
Creditors 90,000 | Cash at Bank 20,000
Mrs. Aadish’s Loan 30,000 | Stock 24,000
Shreyansh‘s Loan 30,000 | Investments 30,000
General Reserve 45,000 | Debtors 20,000
. Less : Provision for
Capitals :
Doubtful Debts, 2,000 18,000
Aadish 1,00,000 Plant 1,00,000
Shreyansh 97,000 | 1,97,000 | Advertisement Suspense account | 2,00,000
3,92,000 3,92,000

The firm was dissolved on 315t March, 2022 on the following terms :

(1) Debtors realised ¥ 17,000 and plant realised 10% more than the

book value.

(ii)
< 20,000.

(iii)

Remaining investments realised ¥ 4,500.

(iv)
(v)

Prepare Realisation Account.

67/1/1

a2 2o 2o 4

Creditors were paid off at a discount of 10%.

Expenses of realisation amounted to ¥ 7,000.

Page 25

Aadish promised to pay Mrs. Aadish’s loan and took away stock at

Shreyansh took away half of the investments at a discount of 10%.
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Hfifigd SFet o T woret o e @ araf-ua sTavaes Tsamen gt
ST
(%) WH fafieg 3 T 100 I8% & T 10,00,000, 9% FOTGHT 1 5% Hiftw
X fifia forem Rt sem =R 9wl o 9veTq 9Hed W R S |
(@) .T8. s 9 T 100 T % T 10,00,000, 10% FOTIHAT ! THIH
W frifia foeam e siiem o) 9wl & 9v=mq 10% Siftem @ fean
T |
(M)  w IR fAHEs 7 T 100 T & T 10,00,000, 9% FOHHAT I 10% T
R frifga fope e siem oiw awi & wwerq 5% Hifm w fen
ST |
R IRIRC]
foea - 1
(forfrr ferarort st forgeraorD)
() fre=fafea 3 8 wF-a e 98 7
(a) IO 9 3ANH hl AN = JTed 8 3 + Hehed oATH
(b) TETEH ® AWM hl ANA = RIS Wik — g T + TIH =
— 3Afaw Wik
(¢) TS § 3TN shl AT = SAR(EHH Feieh + ATqH i
(d) TETEH W W sl AN = J=TeH 8 3T — Hehad 1Y
AT
(ii) gﬂﬁf@lﬁ T ¥ -9 fodfim foawon & favawo 1t Suesstur/dadien
()  Uehg yaTg faawm
(i)  TW-gTH foreo
(iii) @di % JIeH
(iv) Tedfa foawo
gl faereg w1 == IS
(a) (@
(b) ()3 (i)
(c) (1)
d @), () AR (iv)
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26. Pass necessary journal entries for the following transactions relating to
the issue of debentures :

Gagan Limited issued ¥ 10,00,000, 9% Debentures of ¥ 100 each
at a premium of 5%, redeemable at par after four years.

KS Limited issued ¥ 10,00,000, 10% Debentures of ¥ 100 each at
par, redeemable at 10% premium after four years.

QR Limited issued ¥ 10,00,000, 9% Debentures of T 100 each at a
discount of 10%, redeemable at a premium of 5% after five years.

(a)

(b)

(c)

27. (@)

(i)

67/1/1

PART B
OPTION -1
(Analysis of Financial Statements)

Which of the following equations is correct :

(a)

(b)

(c)

(d)

Cost of Revenue from Operations = Revenue from
Operations + Gross Profit

Cost of Revenue from Operations = Opening Inventory — Net
Purchases + Direct Expenses — Closing Inventory

Cost of Revenue from Operations = Opening Inventory +
Closing Inventory

Cost of Revenue from Operations = Revenue from Operations
— Gross Profit

OR

Which of the following is a tool of Analysis of Financial
Statements :

1)

(ii)
(iii)

(iv)

Cash Flow Statement
Statement of Profit and Loss
Notes to Accounts

Balance Sheet

Choose the correct option :

(a)
(b)
(c)
(d)

~~~~ Page 27 P.T.O.
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29.
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o 0

EE N

(a)
(c)

(1)

(i1)

Rad g=1 @ ‘@i iy’ &

1] TNEH T T 20,00,000

-] witratat Z 40,00,000

AT 3R T 25,00,000

EQTHeE ST 25%

% 10,00,000 (b) ¥ 14,00,000
< 24,00,000 d T 15,00,000

U foefi™ ST g YA fohem T T ke aTg TatoT ST T
frafaRea 4 @ fopa fafafy & eraria o -

OB EIGERIGIEID]

(b) e nfafafa

(c) Tocfim wfafata

(d G (b) T (c)
AT

Teh S ITW g Taw | ed =t Ushs T8 foakor s91d 99
frfafea 4 @ foem nfafafe & swaria smom -

(a) Toorr nfafafey
(b) Tocfa wiiafafe
(¢)  YaTed Tty
(d 3 (b) T (c)

Uehg YaTg foaur s gaa Fefafad § 8 98 a9 i foxfig nfafafest

o I AT AW

(i) g 730 1 et

(i) <Iei § UTed Uehs

(iii)  FROTYAT T I

(iv) SR ¢F & faeg yram T o g
el Toehed o1 = il

(a) (@

(b) (1) TAT (i)

(c)
(d)

(1) dAT (iii)
(1), (i1) dAT (iv)
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From the following information, the ‘Proprietor’s funds’ are : 1

Current Assets < 20,00,000
Non-Current Assets < 40,00,000
Long Term Borrowings < 25,00,000
Proprietary Ratio 25%

(a) ¥ 10,00,000 (b) < 14,00,000

(c) T 24,00,000 (d) ¥ 15,00,000

(i) ‘Dividend paid’ by a financial enterprise will come under which
kind of activity from the following while preparing cash flow
statement : 1

(a)  Operating Activity
(b)  Investing Activity
(c) Financing Activity
(d)  Both (b) and (¢)

OR
(ii)  ‘Interest received on investments’ will come under which type of
activity from the following, while preparing cash flow statement of
a non-financial enterprise : 1

(a)  Investing Activity
(b)  Financing Activity
(c) Operating Activity
(d)  Both (b) and (c¢)

Which of the following transactions are shown under financing activities
while preparing cash flow statement : 1

(1) Issue of Equity Shares

(ii)  Cash Received from Debtors

(iii) Redemption of Debentures

(iv) Cash Paid Against Trade Payables
Choose the correct option :

(a @

(b) (i) and (ii)

(c) (1) and (iii)

(d) (@), ({1) and (iv)
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31. FHT Tfufem, 2013 &1 ST 111, W 13 ITJER FfaRad #al hl o
o feufa foewor # gea sfideni qen Iusfivent (Af *I5 B) o oF=avia afihd
ﬁﬁm : 3

(%) THIE AT HaATS

(@) HIT IR KT N YT

(M) efd

32. 9% 98 Tl § NHH TR TrEeEl o SIIEN g TRl
9T AT 8 |’ Gohdleh ohl T8 iU qT $8h & ATl ol Ieoi@
ST | 3

o o 0N

33. () T=fciRaa g1 & el AW STTIT hl TUMT HIT - 4

TheY (Teleh) ATEd I : 6 T

3Id ThY (Vi) : T 4,00,000

o1 <h! Toshl ATTd W 25% 19 9 <l 178

AASAT

(i) THh T AT AR FIIW 2 : 18 | FRO <d Y ooh@ HIWY foh
FHAfARad THel § I8 STUIG Se, T A1 $9H his IRadd 8l 8 ;. 4

(a) T 40,000 % ATA I TR

(b) T 2,000 B W T 8,000 h =X <hl fershl
(¢) SUMUR U9 ¥ T 15,000 <hl Uehg TTfeq

(d) ¥ 6,00,000 % FHAT ITAT 1 FFHA
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31. Classify the following items under major heads and sub-heads (if any) in
the Balance Sheet of a company as per Schedule III, Part I of the
Companies Act, 2013 : 3

(a) Licenses and Franchise
(b)  Loans Repayable on Demand

(c) Accrued Income

32. ‘It is a technique which involves regrouping of data by application of

arithmetical relationships.” Identify the technique and state its two

advantages. 3
33. (1 Calculate Gross Profit Ratio from the following information : 4
Inventory Turnover Ratio : 6 times
Average Inventory : T 4,00,000

Goods are sold at a profit of 25% on cost

OR

(ii)) The Current Ratio of a company is 2 : 1. State giving reasons,
which of the following transactions would improve, reduce or not

change the ratio : 4
(a)  Purchased goods on credit ¥ 40,000

(b)  Sale of furniture of ¥ 8,000 at a loss of T 2,000

(c) Cash received from trade receivables T 15,000

(d)  Issued equity shares T 6,00,000
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34. fafafga wcuffe o@ w1 dfeu qom SEes aur W fer U gl &% IW
S
2011 # g Ja1 WA I, Jurmedt wifen qen fags wifean 3w SAiqans
T I Y A 1 (o fofon | 30 a9 99R § 1% yq@ Raenet 78 9
3N I|H 3E HH I QU D BT JEH @I | I8 Teh ITANThRdT AUl
JeHTEe U HIETsd W9 1 T fohan f&eh g0 Swammhdtsti o fofu srgaam
Th{eh I WA TEE & T4 | 2018 | 30 ‘R 3501 fefuee’ ot ¥ ufafdd
&L Tz T |
31 HT™, 2022 ! 1 & FAfafaa feafa faewor @ =mem niafafirn @ tes
Ta1g <kl MUET ShIfST |
31 WTd, 2022 @t ‘&R gt ferfues’ =t feafa feawo
— =ﬁ'¢' 31.3.2022 31.3.2021
3. T T
I AT TS ST
AU Y
(%) 3w g 9,00,000 3,00,000
(@) v d Ao 1 75,000 3,60,000
2. TR ¢Fan
T 38R 2 2,40,000 1,80,000
3.  dT9 ¢Famg
(%) AR 18,000 60,000
(@) TR g™ 3 2,04,000 2,10,000
K3 14,37,000 11,10,000
II - ufEraf~= .
1. IR aREsEt
T} yfmrafaat 4 10,08,000 5,76,000
2. =T aREwfEt
(%) ik 3,54,000 3,87,000
(@) g W@ Uhg qed 75,000 1,47,000
K3l 14,37,000 11,10,000
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Read the following hypothetical text and answer the given questions on

the basis of the same.

In 2011, two young Indian entrepreneurs, Vaishali Bhatia and Vivek
Bhatia decided to start an online auto portal. At that time, there were no
major players in the market and they saw an opportunity to fill the gap.
They used a user-friendly website and mobile app which made it easy for
users to research and buy cars. It was converted into a company ‘Car

Easy Ltd.” in 2018.

From the following Balance Sheet of the company as on 315t March, 2022,
calculate ‘Cash Flows From Operating Activities’.

Balance Sheet of ‘Car Easy Ltd’ as at 315t March, 2022

Particulars Note | 31.3.2022 | 31.3.2021
No. T T
I - Equity and Liabilities :
1. Shareholders’ Funds
(a) Share Capital 9,00,000 3,00,000
(b) Reserves and Surplus 1 75,000 3,60,000
2. Non-Current Liabilities
Long-term Borrowings 2 2,40,000 1,80,000
3. Current Liabilities
(a) Trade Payables 18,000 60,000
(b) Short-term Provisions 3 2,04,000 2,10,000
14,37,000 | 11,10,000
II - Assets :
1. Non-Current Assets
Fixed Assets 4 10,08,000 5,76,000
2. Current Assets
(a) Inventories 3,54,000 3,87,000
(b) Cash and Cash
Equivalents 75,000 1,47,000
14,37,000 | 11,10,000

a2 2o 2o 4
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it 31.3.2022 | 31.3.2021
g. AR T T
1 | 9= Ug Iniee
TR AT AT9-gTH farawer &1 3w 75,000 3,60,000
75,000 3,60,000
2 | deleprefia 3uR
10% o9 2,40,000 1,80,000
2,40,000 1,80,000
3 | TR JEe™
EZICRIE] 2,04,000 2,10,000
2,04,000 2,10,000
4 | Tl gfetaat
EENIEE 11,52,000 6,45,000
gfad qeag (1,44,000) (69,000)
FA 10,08,000 5,76,000
SAIaR® Gl :

1) 10% o9t o1 e 81 |, 2021 i foham T |
(i) ¥ % GH T 80,000 T HT YTAH R T |

T @
e - 11
(erfiresfers SraTeT)
27. (i)  hifSthehe hl TawIehdl Bdl B :
(a) IR shigd i Iaatd & forT |

(b) @rdi, Yidaedi, 3nfe = gifera W = fore |
(¢) ATl ol MiUd WA (TAHSM) & U |
(d)  AThel o JEMH Tishav = foau, 3fua fere W & o |

AYAT
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Notes to Accounts :

Note ) 31.3.2022 | 31.3.2021
No. Particulars - -
1 Reserve and Surplus
Surplus i.e. Balance in Statement of
Profit and Loss 75,000 3,60,000
75,000 3,60,000
2 Long-term Borrowings
10% Debentures 2,40,000 1,80,000
2,40,000 1,80,000
3 Short-term Provisions
Provision for Tax 2,04,000 2,10,000
2,04,000 2,10,000
4 Fixed Assets
Machinery 11,52,000 6,45,000
Accumulated Depreciation (1,44,000) (69,000)
Total 10,08,000 5,76,000

Additional Information :

(1)
(i1)

(1)

PART B
OPTION - 11

10% Debentures were issued on 315t March, 2021.
Tax of ¥ 80,000 was paid during the year.

(Computerised Accounting)

The need of codification is for :
(a)
(b)  To secure accounts, reports, etc.
(c) The encryption of data.

(d)

OR
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The generation of mnemonic codes.

Easy to process data, keeping proper records.
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(i) & W@ el i AT 9gd HH Bl @ AT A FHAT S7d
3T BT B, 3T Ted & (0T FHfaIRad § ¥ $H-A1 HiFedeR Johd
39FTh BT B :

(a) Tafsre

(b) I h AIAR (CAS)
(c) T fafye wd <ere

(d) 9™

28. T FHMUA R T B 1 IRUMH HeaATdl 2
(a)  oYc9d/ITed o
(b)  HAHd HcA
(c) &Y qed
d &t g

29. 9 fafte @ral @ wfhg Afwst &l Th 97 d Jhf fman Srar g, O 98
FHEAT B
(a) STEAldeh U YshHUT
(b)  EHE ThHUI
(c)  3ATeher defiemm
(d)  TERHY qAT g deR

30. (i) TG AT AT o TR H AT T A oh [T TR a1 Iqad S
3T YAl € ST 83T BIal &, I AW B :
(a) e T sh I
(b) T QTR 39aH
() WA 39aH
(d) Al @ 39

AAAT

(i)  $Ye 3Afergl <l fopell 31T AThel & T HL Y UishaT Hgard! 2
(a)  3AfehgT JefiehTum

(b)  3leher A
(c) T AThe
(d) YR 3Ffhe
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(i1))  Which of the following software packages is suitable for an
organisation where the volume of accounting transactions is very
small and adaptability is very high : 1

(a)  Specific
(b)  Tailored
(c) Specific and tailored both
(d)  Generic

28. The outcome of an arithmetic expression or function is called : 1
(a)  Derived Value
(b)  Basic Value
(c) Vertical Value
(d)  Horizontal Value

29. When the accumulated data from various sources is processed in one
shot, it is called : 1

(a)  Real-time processing
(b)  Batch processing
(c) Data validation

(d)  Processing and Revalidation

30. (@) The name of accounting information sub-system which is linked
with other sub-systems for obtaining information about cost and
expenses is : 1

(a) Cash and Bank sub-system
(b)  Expense Accounting sub-system
(c) Costing sub-system

(d)  Final Accounts sub-system

OR

(i1))  The process of comparing input data with some unknown data is
called : 1

(a) Data validation
(b)  Data entry
(c) Information data

(d)  Storage data
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32.

33.

34.

67/1/1

ST VA BrHeT Caee Wl @l qgadl, Al -t Tfg The Bt B ? $EehI
&l T & TN hl IgE hIT |

o T, ‘M Y IR & IeET 9T SYANThA] YWY a13e’ Ieal i
Uy |

(%) ‘eAlheT WU F1 g ? T U MU 31Tehe ol TEMUd i o AT T
3URTTTT ShT I TRt STTAT 8 2 IHETST |

AT
(@) @ AT o TS ST hi A ST |

T FOS & TAH qoF w1 FA A 7 ? $HhI WET H GERIAl H arel foxi™
HAH ! FHIATST |
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32.

33.

34.
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Which error occurs when Excel does not recognise ‘text’ in the formula ?
State the steps to correct it.

Explain the terms ‘Memo Voucher’, ‘Post-dated Voucher’ and ‘User-defined
Voucher’.

(a) What is ‘data formatting’ ? What tools are used to format a given
data ? Explain.

OR

(b)  List eight uses of accounting software.

What is meant by ‘Present Value’ of an investment ? Explain the
financial function which helps in its calculation.
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